Name:

(Sheet 1) Y& HW

Occas'uwwdy, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

Convert the units of time.

Count in steps of & from the

given number.

/8

1 hour = minutes

3 years = months 12
36 hours = days 60
1 week = days

2 a minute= seconds

96

Calculate these mentally.

3x3x2=
300 = 10 =

1x5679=

Use the correct sgmbols to
make the statements correct.
< =>

9.4 49

0.07 0.06

129 14.2

Write these numbers in order jrom the
smallest to the largest.

™ 0 ™
7,483 7,834

S vy J

7,843

4 ™y
S
L
"
 —
A%

328 + 7,184 =

Shade 4 squares so that there is a
symmetrical pattern.

N
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Name:

Occa.s'meLH, there may he some questions we have not covered. in class yet. Don't panic. Have a gcrordLscuss it with someone who you think may know-

(Sheet 2) Y4 HW

Count in steps of 1,000 from
the given number.

974

4127

Circle the shapes with a line of
symmetry.

Circle the numbers which will
give the number 3 as a whole
number when rounded.

3.3 3.4

2.5
4.0

4.1 28
2.4

Susie has this amount of water.
She needs a litre and a half.

800ml
600ml
400ml
200ml
Oml

How much more water does
she need?

Tear 3 4+ 4% fevourite fruies

Wrear 3
I W'ear 4
Apples Bananns Peare Grap eg

How many children voted altogether?

773 x 2=

How many minutes are there

between the times shown on these
2 clocks?
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Name:

(Sheet 2) Y4 HW

Occas'uwwdy, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

18:15

14:00

18:45

12:15

10, 100 and 1000.

How many lines of sgmme;rg Write the decimal or fraction Sarah buys a toy and hands the Answer the questions below.
does this pentagon have: equivalent. shopkeeper £10. She receives |
this much in change. How many 9s go into 817
Fraction | Decimal : & .
0.7 @ How many 8s go into 96?
87 How much was the toy?
100
0.13
How many 4s go into 967
Match the analogue time with the Round th bers to th t
correct digital time. 7,128 — 214 = s Ty o B g e

Round to the
nearest 10

Round to the
nearest 100

Round to the
nearest 1,000

883

2,341

8 726

A

Q00O
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Name:

(Sheet &) Y4 HW

Occas'uwwdy, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

VII

C

XVI

LX

Match the Roman numerals to

the digits.

|

60

18]

100

B ——

16

Write the number which is one
thousand more.

Calculate the answers.

3+ 100 =

8+ 10 =

Calculate the answer.

6 eighths + 1 eighth=

4 ninths — 3 ninths =

What is the area and perimeter of this
shape?

Grid squares are Tcm by Tem - not to scale.

429 x 5 =

Area:

Ferimeter:

cim

cm

The temperature is 10 degrees Celsius.

N ep

2 What will the temperature be if..
! It drops by 8 degrees? C
It drops by 20 degrees? °c
S ) [t drops by 11 degrees? c
NO
NO

N Y




Name:

(Sheet 5) Yo HW

Occa.s'mw[[y, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

1t
1z
Apphs Banonms Paars Grapes

How many more children in year 4 liked

Add the correct symbol to . : e
compare the weig h%: of these Circle the correct estimate. Jesstl;el 95 {irr:fg?s t;%lssof;r"lthat What is four multiplied by eight?
presents. >=< 2,445 — 37 1= Draw the hands to show this.
700 g S
m y x\\ " 12 '| \\ \\\
2,005 2,400 >
— 10 2 What is seven multiplied by
| |=q [ 3 twelve?
RS 2200 2,045 =7 ;
Ay \ TR
\\\ S E . U
Plot and draw the following polygon: Yo 3+ s favourle fruits
(1,4) (1,1 G, G4 934 + 2321 =

WYear 3

Wgar 4

pears than grapes?

yIW.Wl
O6O

N Y




Name:

(Sheet 6) Y4 HW

Occas'uﬂw,dy, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

[[]no yes[ |

- 13

> 15

Calculate the answer. Kelly counts on in 9s from 36, Shade in the quadrilaterals. Write the missing number on
which numbers will she say? the number line
Circle them. '
4x/ =
Lt
64 82 8 7 6 5 3
x4 - [\
q
54 55 <:> L LT
30 20 10
8x b=
Is this an equivalent fraction? Write a 4 - digit number with 8 in
Shade the rectangles to help you. q,863-1,123 =

the hundreds place.

Write a 3 - digit number with 8 in

the tens place.

A/
N

A

N Y




Name: (Sheet 7) Y4 HW

Occastmwdy, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

What fraction of this shape is Calculate the answer.
shaded?

Susie has this amount
of water.
She needs a litre and a halj.

Label the angles with acute
or obtuse.

36 + 4 =

800ml
600ml
400ml
200ml
Oml

How much more water does
she need?

66 + 6 =

96 + 8 =

3
What is the difference What number do the arrows represent:
between 899 and 4957 231 + 8!888 = thousands hundreds tens ones
fo [ | [0p> [ D.
[rou2> »
D D
thousands hundreds tens ones
P  |p P
[10>1o % 1> 4
[road> a5 | I B




Name: (Sheet 8) Y4 HW

Occastmwdy, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

The numbers in the triangle add Circle the heaviest parcel. Put these fractions in order My favourite show starts at
Llp to 300. Stﬂrting jrom_ the smallest. 645pm It is 55 minutes lﬁng.
Write the missing number. What time does it finish?
4 5 7 3
7 7 7 7
Fill in the multiplication circle. The broccoli cost 55p.
7’745 + 2’32‘] = Reece buys 2 broccolis and a carrot.
He paid £1.50 and received 5p change. How

much was the carrot? Show your working out.

i q C; ﬂl!@ ~ 55p
7
(10} W




Name: (Sheet 9) Y HW

Occa.sLonaLLH, there may he some questions we have not covered. in class yet. Don't panic. Have a gcrorcLLscu,ss it with someone who you think may know-

A shape has 5 lines of How many days are there Calculate the answer. Stephanie worked out
between December 25t and
symmetry. 422 + 378 = 800
February 3?
What shape is it? 6 divided bu 10 = Write 2 different subtraction
J sentences with the same
'lrregu.lar pentagon numbers.

30 divided by 10 = - =

FEngl.CI.T pentagon

regular hexagon

71 divided by 100 = — =

'eregulur hexagon

What number is 3,410 less than
8,589? 135x 6=

Look at the recipe for cookies.

How much butter do you need to
make 12 cookies?

9

How much sugar do you
need to make 20 cookies?

9

N Y




Name:

(Sheet 10) Y HW

Occas'mwuy, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

Add the correct symbol to
compare the angle. > = <

ANO[

O

W -8 cilden
Children whe bought cookles after school at the schosl bake off.
oty [ @ © @

TuEday '“"ﬂt-‘i-’ulu‘.&
Thursday ﬁ' ﬁ ,,E ﬁ Jé;;
ey G O00060660

How many more children
bought cookies on Wednesday
than Monday?

Calculate these mentally.

752 -700 =

1,356 - 300 =

298 + 4,000 =

Talia has £20. She spends Vs
of her money.
How much does she have left?

What number is 3,467 more than

4567

3,348 — 2,291 =

Hazel 13:03 1328 | 14:53 | 15:18
street
Berry 13:10 | 13.35 | 15:00 | 15:25
road
North 13:14 13:39 | 15:04 | 15:29
wood

Look at the bus timetable.

What time is the latest bus you can
take from Hazel street to get to North

Wood by 3.15pm?

AN

Q0O
AR
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Name:

(Sheet 11) Y HW

Calculate the answer.

Complete the table below.

Reflect the pattern by adding
the correct shapes.

What’s my shape?

Anulogue Digltcll D'Lgitul
12- hr 24 hr
/] x b6 = 3:25am It has 2 circular faces
[ 0 vertices
6:20pm The shape is:
5x8 = ®
0/.55
4x 11 =
Tara’s tally chart of the vehicles that drove past her house. Look at the balance scales.
Smurdng Sundng 27 X q =

S O

i

Wan

truck ,I’H|

il

]
(il

limousine |

alll

How many less trucks did Tara see on
Saturday than Sunday?

é ik

A

How much does 1 i weigh?

AN

OO

VLS




Name: (Sheet 12) Y4 HW

OccasLona.LLH, there may he some q/uzst‘wns we have not covered in class Het. Don't panic. Have a gcrordLscuss it with someone who you think may know-.

Label the triangles. What fraction of the 100 Calculate the answer. What numbers are next in
square grid is shaded? the sequence?
1 12| a5 w67 e] a2
21| 22| 23 | 24 25| 26| 27 | 28 | 29 | 30 3 x 7 - ?5 100
31| 32 | 33 | 34 | 35| 36 | 37 | 38 | 39 | 40 | ? ? !
41| 47 | 43 | 44 | 5 | 46 | 47 | 28 | 49 | 50 |
51 | B2 | B3 |54 5B | B& | BT | 58 | B9 | &D
Bl | &2 | &3 | B4 | &5 | &6 | &7 | &8 | &9 | 70 | _ qooo 800{:}
71| 72| 73 | 74 | 75 | 76 | 77 | 78 | 79 | &0 8 X 8 = ' r ! !
81 | B2 |83 |24 | B5| 86| &7 |88 89|90
91| 92|93 | @4 |95 | a6 | @7 | 92 | 99 | 100
0, 25, :
— 11Tx 6=
equilateral  isosceles scalene 100
Look at the shape on the grid. Translate Year 3 4 &5 favourite fruits
the shape 6 squa:ies right and 3 squares 620 x 4 = .
oW

W Eear 3

W ear d

Apples Eanonos Fears Grag es

What was the difference in votes between
apples and pears?

AN/




Name:

(Sheet 13) Y4 HW

Occas'mw,dy, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

Count in steps of 25 from
the given number.

50
300

625
175

What will the completed
shape look like?

Alex’s science lesson lasts an
hour and a quarter.
45 minutes have passed.

How much longer does Alex
have left until the lesson is

finished?

What is the missing number?

7 647 + — 8,647

3,039 - - 2,039

Ethan has £2.50.

bar he wants.

How much more money does he need?

This is 2/4 of the price of the chocolate 6,743 — 4563 =

48

Fill in the multiplication circle.

24

120

12

A
O

N Y




(Sheet 14:) Y& HW

Occa.sLonaLLH, there may he some questions we have not covered. in class yet. Don't panic. Have a gO‘OT'dLSCLLSS it with someone who you think may know-

Name:
Minnie buys 2 mangoes and How many lines of symmetry
2 Y2 kg of grapes. does this shape have?

How much does she pay?

% each mango: 69p
£2 per kg

Calculate the answer. Look at the pictogram.
[ ]
e -
6 divided by 10 = haircut o0 ;;
wish o0 +3
[
30 divided by 10 = vonans | 45

11 more people received a
haircut than a wash.

71 divided by 100 = True or False?

What does the number 5 represent in
these numbers? Thousands, hundreds 2190 + 3499 =

tens or ones?

Which alien holds the box that will balance
the scales? Circle it and write the answers
on the box.

s
A

o O
® ¢

NN

N Y




Name:

(Sheet 15) Y4 HW

Occastmw[[y, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

this true.
> =<
5321
Q938
539

Use the signs below to make

5213
q.983

1539

What numbers do the circles
represent?

(el
S

00){100) \

1'0 10 ( 10 /" 10
€3G
- Q_@)\G@

Write the number the Roman
numeral represents.

—

— i
V N——
—

C — I
 S—
r—

L I B
N

Calculate the answer.

/xb=

5x 8=

4x 11 =

Fill in the missing numbers from the
number line.

20 70
100 100
| | |

l ‘

10

100

4,213 - 3,999 =

(1,

Complete the missing digits:

)O3 3,)(

)

<f./

AN/

—

VOO
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Name:

(Sheet 16) Y& HW

Occastmw[[y, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

Fill in the missing numbers.

Convert the units 0]‘ time.

Malachi buys a toy.
He empties his pockets and

What is the area and perimeter
of this shape?

18 60

. hands tl’l@ SthkEEpEI’ Cl.l.l GJ( th@ Grid squares are Tcm by Tom - not to scale.
1 =
=27 =3 Y2 hour minutes money he has.
Tanif a1,
2 years = months = e o
60 + 5 = 7 days = week The shopheeper gives him back
a total of £4.60.
2 weeks = days
— How much was the toy?
=6x38 3 minutes = seconds !
Area: sz
Perimeter- cm
Fill in the multiplication circle. Complete the table.
444 x 7 =

Roman Numeral

Digits

LX

36

LXXX

XL

XC

AN

N Y




Name: (Sheet 17) Y& HW

Occas'uwwdy, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

Circle the numbers which will Tick the boxes which
give the number 7 as a whole are correct.
number when rounded.

Write the number which is one Calculate the answer.

thousand less.

12 3
16 4

3x 8=
7.4 6.2

2 408—»

1
6.8 32 - L

7.6 6.6 /.8 2 _ 4

8311—» =

5x9=

1,000 ——»

| 12x 8 =

Use the signs below to make this true. Complete the sequence in each row.
== 345 + 1,199 =
2 thousands, 3 1 thousand, 10 77 24
hundreds, hundreds,
0 tens and O ones. 0 tens and 0
ones.
4 thousands, 8
hundreds, 4 thousands, 9 18 36
10 tens and 4 hundreds,
0 tens and 4 ones.
ones.
0 thousands, b 0 thousands, 5
hundreds, hundreds, <
7 tens and 10 10 tens and 20 30 36
ones. ones. :

CSiS)

N Y




Name: (Sheet 18) Y4 HW

Occastmw[[y, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

Answer the questions below. Label the polygons.

True or False? Calculate the answers.

How many 11s go into 1217
I count in steps of 7 from 170 + 1,000 =
the number 49.
I will say the number 86.
How many 4s go into 247 1,000 + 23 =

How many 8s go into 72? . 4 444 — 1000 =

9,814 - 1,000 <

A bus can carry 95 people sitting, and 35 Add the missing fraction.
people standing. 1,239 - 1,188 =
There are 17 people sitting on the bus and
24 people standin 4 4+ 4 =
e ’ 10 10

How many more people can fit on the bus?
Show your working out.

O

AN

N Y




Name: (Sheet 19) Y4 HW

Occa.s'mwully, there may be some questions we have not covered. in class yet. Don't panic. Have a go*ordl;scuss it with someone who you think may know-

Stephanie worked out Circle the shapes with a line Fill in the missing numbers. Circle the largest number in
9428 — 324 =9 104 of symmetry. each row.
Write 2 different addition — 48 = 12
sentences with the same - - { 9,420 } [ 9,240 } { 9,042 }
numbers.
+ =
33+11=
‘ 5,392 W { 3,592 1 { 5,432 1
+ = =5x9
{ 3,392 } [ 3.992 ] [ 3932 ]

The code to this safe is the number which Tick the equivalent fractions.
is 1,000 less than 4301. 8812 + 999 =
What is the code? ’

AN

N Y




Name:

Occasmlly, there may he some questions we have not covered. in class yet. Don't panic. Have a gcrorcLLscuss it with someone who you think may know-

(Sheet 20) Y& HW

How many pencils are there? Complete the multiplication so What is 2 hours less than Match the numbers to their
that it is correct. 3:45pm? Draw the hands on nearest 100.
the clock face to show this.
X = 81
799
— 600
—
X — 45 719 /700
— — J—
o — 800
L} ———
750
x —_— 72 ) —

The table shows the temperature of different
countries on one day in December. Answer
the following questions.

There are 250 seats in a cinema. 117 tickets
are sold on Monday. 68 tickets are sold on

Tuesday. 11 tickets are returned on

Wednesday.

4,531 — 4,444 =

The temperature in London
dropped by 7 ¢ . What wag
5C the new temperature?
[#]

C

The temperature in Moscow
o |rose by 4 C. What was the new
temperature?

O

C

How many cinema seats are available?
Show your working out.

NN

N Y




Name:

(Sheet 21) Y HW

Occas'mwuy, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

blue. The tenths in red and the
hundredths in green.

43 + 10 =
67 + 100 =
2+10=

8+ 100 =

number line.

3.95 3.97

What is my number? Add the correct symbol to Match the fraction with the Calculate these mentally.
compare the weight of these correct decimal.
I am worth 7 thousands presents. >=<
’ 0.74 ||360 + 6=
O hundreds, 6 tens and 23 ones. 432 g o9
s f
[ am: l 3 03
' ? 400 = 10 =
0.4
‘ & P =, 034
.
| 0.75 1500 x 7 =
Calculate the answers. Look at the digits
of your answer. Underline the ones in 19 x 9 = Fill in the missing numbers from the

W

N Y




Name:

(Sheet 22) Yo HW

Occastmwdy, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

What was the difference in Monday's sales
and Wednesday'’s sales?

1,900 + 1,240 =

Add the correct symbols Would you rather four fifths Abdi counts on in Gs from 18, Match the numbers to their
= = < to make this true. 0]( £10 or three f[](ths Oj £15? WhLCh numbers Wll.[ |’I_E SQU? nearest 1000.
Explain your answer. Circle them.
P —
7,356 r'—xb 500
I . q )
V2 litre 50ml e
24 30 ) ( )
7,498 7,000
R
5000ml 11 ) 3,000
20 26 7,199 —
R
—
31 3000ml 45 7 500
S
Cookie Sales Look at the line of symmetry. Reflect the

pattern by adding the correct shapes.

L&

DIV

N Y




Name:

(Sheet 23) Y& HW

Occas'mw,dy, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

I went to a toy shop and bought a
jar of marbles. There are 50
marbles in a jar. How many

marbles are in one jar?

Write a number sentence to show
this below.

Round the decimals to the
nearest whole number.

6.2

8.8

1.4

Write the decimal or fraction
equivalent.

Fraction | Decimal

0.4

23/100

0.55

Can you complete this using
your own numbers?

is 1,000 less than

.
|

is 1,000 more than

| .
L

Label the angles with acute and obtuse.

4091 -313 =

Draw a shape with an area of of 14em? .

Squares Tcm by Tem — Not to scale

NN

N Y




Name:

(Sheet 23) Y& HW

Occa,s'mw,dy, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

Answer the questions below.

Complete the table.

How many 3s go into 397

What is the area and perimeter

of this shape?

Calculate these mentallg.

Eis

Monday Tuesday ednesda Thursdey riday

How many boxes of cookies were sold
altogether?

Dno

Roman Dlg its Grid squares are Tcm by Tcm - not to scale.
Numeral
LX 60 4x 1x2=
How many 4s go into 84?
LXXX
bx2x3=
How many 5s go into 2007 XL
XC 10x5x2=
Area: ch
Perimeter: cm
Cookie Sales Is this an equivalent fraction?
33x7 = Shade the rectangles to help you.

yes [_]

10
15

AN

Q0O

Q
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Name:

Occasmlly, there may be some questions we have not covered. in class yet. Don't panic. Have a g@ordtscuss it with someone who you think may know-

(Sheet 25) Y&t HW

Fill in the missing numbers.

=36+ 9

49 = 7 =

=7 x8

Circle the shapes with a
line of symmetry.

The time is ?:QOpm, What
will the time be in 120
minutes?

Use the correct sgmbol.s to
make the statements correct.

< =>
58 85
0.05 0.04
7.7 7.7

of this shape?

What is the area and perimeter

502 x4 =

Area: cm

cm

Perimeter:

CCOoG
CCOoG

GO

Sally baked 24 cupcakes. She gave T to

her mum. 6

How many cakes did she have left?

CCOoo

AN

COCOCOG
OO0
AR

CCOCG




Name: (Sheet 26) Y& HW

Occa.s'mw[[y, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

Sarah buys 10 apples for 90p. What fraction of the 100 How many pencils are there? Fill in the multiplication circle.
How much was 1 apple? Write square grid is shaded?
the number sentence you used
to work out the answer. Tl Efas e T eGS0
M12(13 1415|168 | 17| 18 |19 | 20
21| 22|23 |24 |25 | 2 |27 | 28 |29 |30
31| 32| 33 [ 24 35| 36 | 3F| 38|39 a0
[a1 [ a2 a3 |44 | a5 | a6 |47 | 42 | 49 | 50 |
51| 52| 53| 54|55 5657|568 |59 |60
61 62| 63| ea| 65| 66 |67 |68 |69 | 70|
TV 7273 (74|75 |76 (77 (78 |79 | BO
1 | 82| 83 & |85 | 8 |87 |88 |89 |20
91 | 92 [ 93 [ %4 | 95 | 96 | 9F | 98 | 99 (100
&
0 =8chlildren . 2
Children who bought cockies after school at the school bake off. 1 }001 - 81 3 = Draw a shape with an area Gf D]( 8cm”.
Monday @ ﬁ# g H
ety 90000000
Wednesday "t !'t e G ﬁ %
Ty (00 66)
iy, Q00000000

The data was incomplete. 20
more people bought cookies on

Monday. Add this to the

pictogram.
Squares Tcm by Tem — Not to scale

A
oo

N Y




Name:

(Sheet 27) Y& HW

Occas'uww[[y, there may be some questions we have not covered. in class yet. Don't panic. Have a go*ordtscu,ss it with someone who you think may know-

Hasan buys 100 cupcakes for
£45.

Complete the table below.

The numbers in the triangle add
up to 1000.

Complete the calculations.

AAN A
AQ&V

How much was 1 cupcake? Analogue Vgl Digeal Write the missi b
: 12- hr 24 hr rite the missing number. 100 = 10 =
7:40pm )
Write the number sentence you '
used to work out the answer. 9:55pm
o O\
qunur in the isosceles triangles blue, Hazel | 13.03 | 1328 | 1453 | 15.18
equilateral triangles red and the scalene 431 x 3 = street
triangles green Berry 13:10 | 13:35 | 15.00 | 15:25
road
North | 13.14 | 13.39 | 15.04 | 15:29
wood

Look at the bus timetable.

What time is the latest bus you can
take jmm Berrg road to get to North

Wood by 3.00pm?

AN A

N Y




Name:

(Sheet 28) Y& HW

Occas'wnally, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

What number does the table
represent?

Add the correct symbols ,
> = < to make this true.

1000s 100s 10s 1s

Label the triangles.

A

Minnie buys 2 mangoes, 2 kg
of grapes and 2.5kg of
bananas.

How much does she pay?

o 0|0 ¢| v50m 500ml € oo o ’b

. O . O ' £2.50 per kg

@ per kg
| 0 2 litres 21 .
51 500ml
equilateral isosceles scalene
Tard's tally chart of the vehicles that drove past her house. The Shflpe has translated _['mm A to B.
Saturday Sunday 155 x 6 = Complete the sentence using the words

O
* il Ml
M W
limousing | Hﬂ |
How many more vehicles did Tara see on
Sunday than Saturday?

left/right and up/down.

The rectangle has moved spaces to the
and spaces

Q

Q

Q

N Y




Name:

(Sheet 29) Y HW

Occa.s'meLH, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

Write these numbers in order
from the smallest to the greatest.

I count in steps of 8 from the
number 24. I will say the

True or false?

6,532 6,253 6,523 number 48.
i . ™
L I count in steps of 6 from the
J number 36. I will say the

number 18.

Look at the line of symmetry. | | What is the area and perimeter
Reflect the pattern by adding of this shape?

th@ correct shapes. Grid squares are Tem by lom - not to scale.

Area: cm 2

Perimeter: cm

Look at the measurements.
Tick the shortest rubber.

(Mot to scale)

V|

100mm 50cm

2,799 + 2,799 =

Tear 3 + &'s favourice fruics

W¥ear

Apples Bananas Pears Grapes

The data was incomplete. Five more children
chose grapes in year 3 and 10 more children

chose apples in year 4. Add this to the bar
chart.

/1
©)

N Y




Name:

(Sheet 30) Y& HW
Occas'mwuy, there may be some questions we have not covered in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-.
Draw a line to match the

Circle 2 d'Lf_ferent numbers
calculation to the correct

which will add up to make a

Calculate the answer.

What is nine multiplied by
‘ eleven?
answer. multiple of 5. 3 7 Write your answer in words.
7
20+77 = 10 11 9 4_ 9
7 =10 = 7 6 7 What is six multiplied by
5_8 = twelve?
Write your answer in words.
Y2 of 14 = q7 12 10
6-3=
8

Look at the measurements. Tick the

Shade 8 squares so that there is a
shortest pencil. 4515 -999 = symmetrical pattern.

(Mot to scale)
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